
Subject: Re: Gambia DHS 2013
Posted by sngacksowe@yahoo.com on Thu, 03 May 2018 00:39:57 GMT
View Forum Message <> Reply to Message

Hi
I am using The Gambia DHS. The svy command is for weighted samples which differs from the
unweighted samples. Probably you used the unweighted which cause the difference. 
I have my own issues too. I have posted here for help but no reply yet. Kindly lend me a helping
hand if you can. I have problems in coding the age difference between partners.As some men
have more than one wife, it was difficult for me to code age difference between partners so as to
be able to assess age-disparate relationship. Please help. Thanks
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